[image: C:\Users\lbeasley\Desktop\Webpage scans\2017-02-15\001.jpg]
[image: C:\Users\lbeasley\Desktop\Webpage scans\2017-02-15\002.jpg]
[bookmark: _GoBack][image: C:\Users\lbeasley\Desktop\Webpage scans\2017-02-15\003.jpg]
image1.jpeg
e 0017 2 o Yordel,
\olume omework #7 sziz/llgm

. The table shows how the volume of a prism changes after each level is
added to the base.
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What is the volume of the rectangular prism when it has a height of 4
layers?

A. 20 cubic units
B. 18 cubic units
C. 36 cubic units
D. 72 cubic units

7. Keisha's lunchbox is shaped like a rectangular prism with a length of 7
inches, a width of 3 inches, and a height of 9 inches. What is the volume of
the lunchbox?

A. 90 cubic inches
B. 567 cubic inches
C. 19 cubic inches
D. 189 cubic inches

3. A jewek_ar received a carton of boxes packed with gift boxes. The gift boxes
were 2 inches long on each edge. If 12 boxes completely fill the carton,
what is the volume of the carton?

A. 24 cuin.
B. 48 cuin.
C. 96 cuin.
D. 144 cuin.

+}, Franca wants to make a rectangular prism out of 50 cubes that have side
lengths of one inch. She wants the prism to be 1 inch tall. Which of the
following shows a dimension combination Franca should NOT use?

A (2x25)x1
B (55c10)bc 1
CE(25 <)X
B (1550)
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S A shipping box is filled with pastry boxes. Each pastry box measures 1
cubic foop The shipping box is 3 feet high. The bottom layer of the shipping
box can fit 6 pastry boxes. What is the volume of the shipping box?

A.
B
&
D.

24 cubic feet
18 cubic feet
9 cubic feet

10 cubic feet

{,. Marina packed 36 1-inch cubes into this box. How many layers of cubes
did Marina make?
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7. Wooden blocks are sold in a cardboard box. Each block measures 1 cubic
inch. The cardboard box is 4 inches high. The bottom layer of the box can
fit 9 wooden blocks. What is the volume of the cardboard box?
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36 cubic inches
13 cubic inches
45 cubic inches
14 cubic inches

§. The table shows how the volume of a prism changes after each level is
added to the base.
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When the rectangular prism has a volume of 18 cubic units, how many
cubic units are in each layer?

A
B.

9 D)9k
18

€. 36
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/ Q. A storage bin in the shape of a rectangular prism has a volume of 5,400
/ cubic inches. The base area of the storage bin is 450 square inches. What
is the height of the storage bin?

A. 9inches
B. 11 inches
C. 12 inches
D. 15inches

/0. Mark packed 1-inch cubes into a box with a volume of 120 cubic inches.
How many layers of 1-inch cubes did Mark pack?
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1/, Derek used unit cubes to build a rectangular prism. He used 28 cubes to
make the bottom layer and made the prism 3 layers high. What is the
volume of Derek’s prism?

A. 84 cubic units
B. 252 cubic units
C. 31 cubic units
D. 16 cubic units

/2. The base of a raised garden bed is'6 feet by 4 feet. The height of the
garden bed is 2 feet. How many cubic feet of soil are needed to fill the
garden bed?

13 cubic feet
24 cubic feet
9 cubic feet

48 cubic feet
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